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QUESTION 1

The application of the Redundant Implementation pattern can help increase service availability by establishing a
duplicate deployment of a service in order to provide failover support.

A. True
B. False

Correct Answer: A

QUESTION 2

Load balancing is commonly associated with which pattern?
A. Atomic Service Transaction

B. Intermediate Routing

C. Service Broker

D. Decoupled Contract

Correct Answer: B

QUESTION 3

Even though atomic service transactions can be used to ensure that all services within the transaction either succeed or
fail, in larger transactions involving multiple services, the amount of required memory consumption can .

A. add up and reduce overall service scalability

B. be minimized through the use of service agents
C. be deferred to a compensating service transaction
D. None of the above.

Correct Answer: A

QUESTION 4

A typical service-oriented enterprise architecture specification can encompass:
A. only one service inventory

B. multiple service inventories

C. non-service-oriented technology architectures
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D. None of the above.

Correct Answer: B

QUESTION 5

Which of the following statements regarding the application of the State Repository pattern is false?
A. State data can be temporarily written to and then later retrieved from a dedicated state repository.
B. Caching large amounts of state data in memory negatively impacts scalability.

C. A state repository is not useful for supporting long-running service activities.

D. Database technology is typically used for the implementation of a state repository.

Correct Answer: C
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